Antenna
mounts here 3
Inch round by
3/8 inch thick

plate
Bracket is 2x2 This can either be the frame of the
inch square tube vehicle or the bracket that is bolted
3/16 inch thick. to the frame of the vehicle

Weld antenna to
bracket or frame of
vehicle.




Instead of 7/8 hole and nut, 3/8 plate
can be drilled and tapped for % by10

thread.

I I
3/8 plate with
7/8 inch hole

ﬂ in center

Tack weld /

stainless

nut.

2x2 square tube 3/16
«4——— thick




500
<

g

p iSee Nole #1) 4.000 . d.000 {See Nole #1)

'

2 500

[l
DS Wb/

0

1.2E0

NOTES

fie i iy ’ 1 528 Nate £3)
P =

a0 .

i&!l

& #1.In a Chewy 5-1 !j :he rik s_p-an::ing s an
4 000" zenters, This dimension can be

changed to meet your rk spacing.

#2. Al dimensicnz are in irches.
#a.IF yau want to ol the mount @

10,000

2.00

o

tre bec witn B ools instead of 4 dnll
a 4B clearance hole hareto cateh 3 bed ks,

#4. | am always [ooking for improvenentz, so
geck for updstes to this crawing as | do
more testing.

Mote: This project 5 3 Worlk i progress.

#5. Oimensiconz af tris recossed hole: is
based an the bot head and lock washer

L. [Ses Mote #11 4 000 4000 (2ee Mote #11]

thickness to prevent the bolt head fram
making contact to the bad. Acjust to mest

-
o
T

| YU Needs.

2 500

[Ses Mole £3)

#5 The length of these bo t2 depends on the rik
h=ight in the bed. Adjust to meet your needs.

1.250

0,
N, A

LEGEND

BOM

2.500 x 10.000 x .500 Aluminium Plate

3/8-16 x 2.000 Bolt Stainless Steel (See Note #6)

3/8 Flat Washer Stainless Steel

oo co|l b4

3/8 Lock Washer Stainless Sieel

@ Drill 3/8 Clearance Hole

() Brill 516 and Tap for 3/6-16

¥ Layout Center

scorpion Antenna SA-680 Mount

WARTL@yahesa.com

Cizclainmar:
XAXTL docs not wareant the aecuraey of the inforrnation contained hers or iz
TRSEIrSi R lor drw er s o aomtisssinrs aaend aasssarness o lialilily e reespsearesibi lily.

Rev. 1.0 JAug. 12009
Use At Yaur Cwn Risk!! Fage 2 of 2




Bottom View |50 5750 4 ¢ 20C0 }i{ 2000 3 750 5} 750 )
~— (P (seenoters (B —
= [Hecessed 250 =
= jis o P =
o 2 o E "
g > 3 :
o il
o H @ TH X —
= 2
= A E— i
1 () (B (B -
< 3750 : 3750 ?
[~ 5 000 4
< 10.000 ?
2000 7 BOM
1500 ), 1500 1 [4.000 x 10.000 x .500 Aluminium Flate
|( 1 14.000 x 5.000 x .500 Aluminium Plate
. 12 |3/8-16 x 1.250 Bolt Stainless Steel
@ @ e 12 |3/8 Flat VWasher Stainless Steel
12 |3/8 Lock Washer Stainless Steel
s |2 1 [3/4-10 x 2.750 Bolt Stainless Steel
[t ] .
= 1 13/4 Lock Washer Stainless Steel
NOTES
dee Fage 2 of 2
= B e o
- X LEGEND
o @ Drill 3/8 Clearance Hale
r Drill 516 and Tap for 3/8-16 |
Scorpion Antenna SA-680 Mount
y ooy Drill 3/4 Clearance Hole WiAXT] @yahna com
@ @ T E::I:'II:EI;E;a nad weamani the BUGURE2Y of 1he infarmadian -zf:-mfa_inad hiere ar i:_a s
~ { , e LE}F'DLJJ[ Center EZTH;‘"E!F r:glrug.y:l:rréaécbcgnmsaﬂna ani assumes ne liabilily or respersibiliy.

4. 02

LUse At Your Own Risk!" Fage 1 of 2




	scorpionantennas.com
	http://www.scorpionantennas.com/images/Mobile-antenna-mounting-bracket-drawing-by-W4XTL--1.jpg




